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Ex/CBCS/Phil/UG/GE/2.4/2018

BACHELOR OF ARTS EXAMINATION, 2018

(1st Year, 2nd Semester)

PHILOSOPHY (GE)

(History of Western Thought)

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

Use a separate Answer-Script for each group.

Group - A / øıˆ¬±· - fl¬

1. (a) How do you distinguish between a priori knowledge and
a posteriori knowledge ?

(b) Identify which of the following is a synthetic a priori
proposition and explain why you consider it as synthetic
a priori instead of the others.

(i) Birds are biped animal.

(ii) Every effect has its cause

(iii) 15 – 6 = 9 4+6=10
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ïfl¬ó Ó≈¬ø˜ fl¬œˆ¬±Àı ¬Û”ı«Ó¬–ø¸X¬ :±Ú › ¬Ûı˛Ó¬–¸±Ò… :±ÀÚı˛ ˜ÀÒ…

¬Û±Ô«fl¬… øÚı˛+¬ÛÌ fl¬ı˛ ∑

ï‡ó øÚÀ•ß±Mê ı‰¬Ú&ø˘ı˛ ˜ÀÒ… Œfl¬±ÚøÈ¬ ¬Û”ı«Ó¬–ø¸X¬ ¸—Àù≠¯∏fl¬ Ó¬±

ø‰¬ø˝êÓ¬ fl¬ı˛ ¤ı— ı…±‡…± fl¬ı˛ ñ Œfl¬Ú Ó≈¬ø˜ ’Ú…&ø˘Àfl¬ ı±

øÀ˚˛ ¤øÈ¬Àfl¬˝◊ ¬Û”ı«Ó¬–ø¸X¬ ¸—Àù≠¯∏fl¬ ıÀ˘ ˜ÀÚ fl¬ı˛Âº

(i) ¬Û±ø‡ øZ¬Û √õ∂±Ìœ

(ii) √õ∂ÀÓ¬…fl¬ fl¬±À˚«ı˛ fl¬±ı˛Ì ’±ÀÂ

(iii) ¬15 – 6 = 9 4+6=10

Or / ’Ôı±

2. Give a brief account of Plato’s theory of universals. How
does Aristotle’s theory of universals differ from that of
Plato ? Discuss. 5+5=10

2º ¸±˜±Ú… ¸•ÛÀfl«¬ Œõ≠ÀÈ¬±ı˛ ˜Ó¬ı±Àı˛ ¸—øé¬l øııı˛Ì ±›º ¸±˜±Ú…

¸•ÛÀfl«¬ ’…±øı˛à¬È¬À˘ı˛ ˜Ó¬ı± Œõ≠ÀÈ¬±ı˛ ˜Ó¬ı±Àı˛ ŒÔÀfl¬ fl¬œˆ¬±Àı

¶§Ó¬La ∑ ’±À˘±‰¬Ú± fl¬ı˛º 5+5=10

Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

3. How does Descartes define substance ? On what ground
does he accept matter and mind as substances ? 2+3
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Œfl¬±Ó«¬ ^Àı…ı˛ fl¬œ ˘é¬Ì ŒÚ∑ øÓ¬øÚ fl¬œ ˚≈øMêÀÓ¬ Êh¬ › ’±R±Àfl¬

^ı… ø˝¸±Àı ¶§œfl¬±ı˛ fl¬Àı˛ÀÂÚ ∑ 2+3

Or / ’Ôı±

4. Can parallelism solve the problem of occasionalism ? Discuss
briefly. 5

¸˜±Ú±ôL√ı˛ı± øfl¬ Î¬◊¬Û˘é¬…ı±Àı˛ ¸˜¸…± ¸˜±Ò±Ú fl¬ı˛ÀÓ¬ ¸˜Ô« ∑

¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±º 5

Group - B / øıˆ¬±· - ‡

5. Explain the different conditions of propositional knowledge.
10

ı±‰¬øÚfl¬ :±ÀÚı˛ øıøˆ¬iß ˙Ó«¬&ø˘ ı…±‡…± fl¬ı˛º 10

Or / ’Ôı±

6. Explain and examine Hume’s doctrine of causality. 10

fl¬±˚«fl¬±ı˛Ì ¸•ÛÀfl«¬ ø˝Î¬◊À˜ı˛ ˜Ó¬ı± ¸øı‰¬±ı˛ ı…±‡…± fl¬ı˛º 10

Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

7. Explain the different senses of the verb ‘to know’. 5

ëÊ±Ú±í øSê˚˛±øÈ¬ı˛ øıøˆ¬iß ’Ô« ı…±‡…± fl¬ı˛º 5
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Or / ’Ôı±

8. Are all concepts based on experience ? Discuss briefly. 5

¸˜ô¶∏ Ò±ı˛Ì± øfl¬ ’øˆ¬:Ó¬± √øÚˆ«¬ı˛ ∑ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛º 5

—————
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